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- INORITY 191902 9P RN KPR 72100 3129 779 10PN ORR KUY
What is the reason the Rabbis instituted a 172102 for her, in order that
it should not be easy in his eyes to divorce her

Overview

The 7127 maintain that the 0i1X7 is not required to pay her a 72102 if she wishes to
leave the marriage, and similarly if he dies, she does not receive a 12102 payment,
for the money she received for the 017 is in place of the 712112 payment. The reason
there is no 72102 i1s because the reason why a 172102 was instituted is in order for the
husband not to divorce his wife on a whim (for he will have to pay the 721n2),
however here since he cannot divorce her in any case, there is no need for a 7212.

Moo responds to an anticipated difficulty:
= 30N NPIYA NNT 2NN 1) NN NY Y NHINAYT 2 bY 9N

Even though that a virgin is entitled to a ;720> by 7710 law (and was not instituted

by the 1121), nevertheless this woman is a 57992 and not a 719102, so there is no 0" 72103,
only on account of the 2°»5r nipn and that reason does not apply here —

n1voIN asks:
= P20 NY PPN P23Y Y927 %M P09 NPT NN N

However it is astounding; for the Xn»71 states unequivocally that she has no

772903 in any situation -
= DMND )I NN N YA NN NI NN 415975 XHY NIDY Na 1D2ON

Even if he had unnatural relations with her, in which case she is still a complete
903 afterwards, and therefore she is entitled to a n'';1% 7712300 —

mooIn proves that by 715775 X?Ww 7°%¥ X2 she still remains a 77102 -
= ANYNINY 199992 NYP NANH XYY NPV M7 KD 502 1Y W %Y 7YYy N2 ON NXNT

For if a second person would have relations with her, there would be a o1p

! See previously X,” and in '01n there 7R 7"7 that 72302 n2IN3 is 0.
2 How can the X3 say that the reason for having a 72103 is (merely) a 1"pn (and therefore since the reason [of X5w
XX 1A 79p Rn] does not apply here [for he cannot divorce her anyway], there is no 721n3), when in fact there
is a 0" 72> 2vn for a 7703, and therefore in all cases she is entitled to a 72105 (regardless of whether 1°va 77
TX°¥177 applies or not).
3 He was 018 her against her will, there was no 1217p, and later when he will marry her she is a 7712 already and is
not entitled to a "7 72103, only 711277A.
4 A 79772 R7Ww X032 obligates the 0911 01X to pay 0Ip. See 1R’ 71"7 R,» NDOIN.
3 There is a 03p payment by a 77102 only.
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payment, for she is considered (still) a 77102, and therefore the reason she is entitled

to a 72IN3 is not because FIRYITY 1192 9P NN KW, but rather she is entitled to a 72103
n"7n, so why would the 7127 maintain in this case also that she has no 721n3; why not?! m»oIn does
not offer an answer.

n1voIN asks:
= SANININD 193032 NHP NAN NOY NNYLYT 1123 PNYY 13299 NN

The >''1 is astounded, since the reason for having a 72112 is °v2 77%p XN KOW

IRIRITY -
- 7292 NYINNY NIN JPNY 1Y 15N NY 121N 1329 1Y 1PN INHIN TNINYN

Why did the 3227 institute that an 732%K should receive a 72103, they should have
only instituted a ;7712103 for a divorcee only, but not for a widow —

N1B0IN answers:
- ANYINY 1P NYP RN KIY NYINA 17NY 199817Y TINNT PHYS 19539 N

And the ' says that since it was necessary to institute a 7210 for a divorcee, in

order 7RI YA 9P NN KOW -
= NN DIYN DNPNN 1N XY NINNY 171999 EXIN DIVM NINYNY 9133 19PN

The also instituted a 72102 for a widow so she should find grace, however initially
they would not have instituted a 72105 for the sake of X217 alone —

mooin asks:
= (v [2)(),09 97 8P X32) JAINNA NINT NN DNIAN 12 IVYNY 199290 NYP
The X''2w1 has a difficulty regarding this which the xn>>22 taught in 2777 p9o -
= 9NN NN RY NYYAL NHANY NN 1D
And similarly, a woman who wounded her husband does not lose her ;712102 -
= 193N INNA NPY 225N 12NN NIV NNAINDY PPN INNN TP

® This question is regarding a woman who was not a 77102 when she married, so the 72103 is only 112772, on account

of R*XI1TY 1PIYa 79 RN ROW.

7 This is referring to a woman whose husband died, where the rule is that she collects her 72103 from his estate. Why

should she receive a 712103, since the reason for a 72102 is that the husband should not divorce her easily, therefore only

a divorcee should receive a 72102 (in order to prevent him from divorcing his wife for no reason; he will be reluctant

to divorce her, since it will cost him money), but not one whose husband died. There is no concern here!

8 See later 8,79 that according to 2Wwn 71"7 >"wA this means that the women will like the men and be willing to marry

them, since the women know that they will be left with a 72103 if the husband dies. However the "1 in n21n3% 7"7 'o1n

there says that the men will be happy to marry the women (n11%R) for they will come into the marriage with the 771210

money (from their previous husbands).

® We do not deduct from the 72105 payment the amount of damage that she caused him by this wound.

10 78177 N2 means the market value of the 721n2. Let us assume the 72103 is for 200. One may want to buy the 72103

from the woman (so he will receive the 72103 payment if she is divorced or widowed). However he will buy it only at
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And the X713 asks, whys; let her sell (to her husband) the 712102 for the 827 naw

and she should pay him with this money for this wound which she caused him -
= DINT RN 9ONND 29 210 RN UM

And the X 1) answers, this Xn*72 is according to »''%, who maintains -
- 1pnN HYY 129N NAINI XY INYN NN XIYIY DTIND 9ON

It is forbidden for a man to have his wife by him even for one hour without a

12302, This concludes the citation from that X373, N1DOIN continues -
= ANININD 193992 NYP NNN NHY RNYVT 195 XKNYM

But now since the reason for a 772103 is IR P2 7ToP RN KW -
- 1292315 NY XY NIV DX YAN MIYNNNH OXY N YY HNINI Patn

She should sell her 72302 (to her husband) with the stipulation that if she is
widowed (there will be no 72112, since she sold it already), however if he divorces

her, she will receive the 772102 payment and the sale will be annulled -
- 13N3'N DIUN TV XY BNAT

For in the case there, the reason of X151 is not applicable —

N1BOIN answers:
= W N HINTAT 2) DY N RION TV DIV INVAT 1190 PNYY 13939 919IN)

And the %''1 says, since that by other woman, X211 is applicable, so therefore even

though that by this woman it is not applicable, nevertheless -
= N1 299 N3N XA AMAYAY MON) a9 Moo XY

The 3329 did not differentiate, and it is forbidden to live with her without a 7712102
according to »''1 —

a discount from its face value of 200, since we are not sure that the woman will even receive it, for if she dies before
the husband, the woman (and the purchaser of the 121n2) will receive nothing. Therefore the price of purchasing this
72105 will be (considerably) less than the face value of 200.
! Therefore she cannot sell him her 72103 because then she will be living with him without a 72103 owed to her.
12 The reason she does not sell the 72105 is because 7212 X923 MWK 7w D7RY MOK, the reason she needs a 72100 is
W2 PIYA 9P XN RO, therefore let her sell the 72105 to him with the stipulation that if he divorces her, he must pay
her the entire 72103, disregarding the sale (the discount will then be much greater), this will take care of the prohibition
of n"1 that 121 o78> 70K, since she will get a 72103 if he divorces her, so it will not be n&°%17% v1ya 797, The sale is
valid only if she becomes a widow, and then she will not receive the 72113 (since she sold it to him). In this case the
issue of X111 is irrelevant. See following footnote # 13.
13 According to >"w (see footnote # 8) that X means the women will like the men and marry them, for they know
they will receive a 12102 if he dies, it is certainly irrelevant here, since she is already married to him. According to the
n"7 (there) that X' means that we want the men to marry the rich widows, nevertheless here where she owes her
husband money for wounding him, is it proper to say that we should give her money (to get married) at the expense
of the damage she caused her husband?! Would we say that a widow (who has her 72103 money) who damages someone
should be exempt from paying since she needs the money to attract men to marry her?! That is absurd!
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nvoIN asks:
= 150195 195y NY PN NN MY HNIINA NDIP DI RY XN 21 INNNI 9NN ON)

And if you will say, but why does the Xn>s92 teach here, that if the 0iXn dies ‘the
o1? money is instead of her 77121n2’, let it state instead, ‘if he dies, she has no claim

on him at all’ -
= 15919) DIYN NON NININD 1929 99PN XY NNY

For the only reason the 3321 instituted a 72102 by an 7732°X is because of a w73 -
= 167929 *819 XY NNT NNTY 1PNY PN HWI NN XOM

But here (by 01X) there is no reason to institute a 72113 on account of a 7wy9s,
since the 0i1x» cannot divorce her —

N1BOIN answers:
= NN ANV 1195 NION N2 T29WT 1199 193 NI PNYY 13929 90IN)

And the %' answers that here too (like in the previous answer), since N7 is

applicable to her, like other widows -
— PNNONR INYN NINYY 1Y N

We should not make her different from other nu»»x -
£ NY PINT HH IYN XD NNAINDA NDIP GO N¥T RNYV TII0VNIN 991D

Therefore it was necessary for the X713 to give the reason that her 72vn> was paid
with her 217 money, and they were not concerned with the fact that she has no

71202 since he cannot divorce her in any case.

Summary
A 7nais entitled to a 0" 72100, A 79IWa receives a 13127772 72103; a divorcee in order

IRXITY 11V 7P XN XYW, and a widow X1m o1wn. Even in cases where these reasons
are not applicable, she will receive the 72102 because of 2199 X5.

Thinking it over
npoIN is differentiating between 7n21N32 7701 O3 XX¥* (which means she is entitled
to a 721n2, but it was already paid for), and 0195 1°%¥ 1% 1R (which means there is no

14 mooin is not merely asking a semantic question, but rather there is a difference in content; according to the X723, it
means that the 01kn owes her a 72103 if he dies, however he already paid it when he paid the o1p. However maoin is
arguing that in this case of a 0ixn, there should be no 712103 obligation in the first place — 2173 1°%¥ 777 X! See ‘Thinking
it over’.
15 See previously in this '01n (text by footnote # 8).
16 If the only reason why an 712%% has a 72103 is because the 1127 were Jpn2 a 723 by a w3, otherwise there is no
reason for an 779X to receive a 712103, so in this case where the 0iX» cannot divorce her, there is no reason to have a
72105 for a w3, and therefore also no cause to have it for an 7In7X.
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72N> obligation at all).!” In the Xn>>M2 is states X*¥1Wwd (which is explained to mean
X171 R¥nw2) through a divorce 0195 %% 177 X (which means there is no obligation at
all). Why is it that by 714%%, even though there should be no 7210 (since there is no
reason for a 7213 by a 7w173), nevertheless we say 1N21022 701P 7O KX (on account
of 295 XY [since there is X1°17]), however by a 7113 we do not say 7701p 702 KXY
7N21N52 on account of 2199 X7 with other N1, but rather 0125 1°5¥ 177 1X?! Why this
difference between a w173 and an manox?!18

17 See footnote 14.
18 See (M12105 'on "M MAwn) 1"IRA.
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